21

27,549

755ha




2 2 R2 R3 2,310|-
2 1 1 R2 R2 4,664|-
14 15 33 R2 R2 9,128|-
5 6 6 R2 R2 2,607|-
2 12 R2 R2 8,583|-
4 R2 R2 2,739|-
R2 R2 6,712|-
R3 R3 1,694|-
R3 R3 25530|-
R3 R3 3135|-
R4 R4 44,600(-
65
4 5 6 RS RS el
2 2 RS RS (1i,53?2()()) B,
14 15 2 R5 RS (85?552) )
W=40 50mL=6om | R  R2 38,001/1.35
\W=4.0m L=1,835m R2 R3 251,000|1.36
W=4.0m L=3,500m - - 0[1.61
W=4.0m L=1,900m - - 0[1.90
W=4.0m L=2,700m - - 0[1.25
W=35 3.6m R2  R6 179,740|2.75
1.=2,000m
W=3.6m L=3,000m - - 0[2.75
W=35 3.6m R2  R6 134,532|1.15

L=1,913m




W=35 36m R2 R4 110,000{2.14
L=1,270m
W=35 36m R2  R6 197,360{1.81
L=2,370m
W=35 36m R2 R6 282,1503.09
L=2,500m
W=3.6m RS  R6 47,000[2.16
L=500m
W=4.0m RE R6 (11000, g4
” 11,400
L=0m
A=120ha R2 R6 (423723'02553 - 10
A 104ha '
(431,000) 10
A=120ha R2 Re 429787|"
A=96ha
A=2,000
A=500| R3 R4 42,376[a.97
A=1,347.0m2
byl R2 R2 45720[4.63
A=1500
R3 R6 289,794{2.55
A=3,000
1.0 - - of2136
A=2,000.0m2
aaooom2 | 3 Re 150,000(6.03
L=250.0m
A=703.0m2
a7 om R2  R3 45470|8.36
10 R3 R6 200,000(3.44
A=385.4m2 R2 R2 18974/1.70
A=2,916.0m2
R2 RS 172
L=100.0m 200,103
L=22.0m
L=43.0m R2 R2 33.132[258
A=454.2m2
Ls160m | R2 RS 347,000[2.21
L=1615m
L=159.0m R2 R6 465427(1.11
A=2,426.0m2
L1206m | R2 RS 409,421(7.92
A=1,800.0m2
R3 R6 310,000{1.50

A=5,400.0m2




A=1,600m2

R2 RS 225,900|1.43
A=1,100m2
A=3581.0m2
A=2800m2 | oy R3 136,2401.29
L=77.0m
A=15000m2 [ R3  R6 168,610/3.33
A=1,580.4m2 R2 R2 66,123]4.95
A=450ha R2 R3 46,375(11.18
A=3,7955m2
L=149.5m
L=111.0m R2 R4 261,759|3.58
A=1,210.0m2
A=3,570.7m2
A=4,082.0m2 R2 RS (32467602207) 273
L=38.0m :
A=645.0m2
A=3,563.0m2
A=244.0m2 R2 R3 98,604|1.22
A=399.3m2
1=1,496.0m
R2  R2 49,011/3.16
A=515.0m2
L=16.0m
1 R2 R2 51,611]|1.50
1 R2 R4 127,646|- 10
_ _ ol- 10
10
10 - - 0|-
10
10 - - ol-
10 - - ol- 10
10
10 - - ol-
1 R2  R2 4,062|- 10
R3 R4 27,106|- 10

10




! R2 R6 129,205 - 10
N=158
2
2 R2 RS 60,431- 10
L=782.0m
L=300m
10
20 - - 0-
10
10 - o|
10
10 - - 0-
10
20 - - of-
10 R2 R6 44,183 10
L=200m
10
10 RS R4 58,201]-
10
20 - - 0-
! R R 36,335 - 10
1
10
10 - - 0-
10
10 - o
10
20 - - 0-
10
L1008m R R 40,000|-
10
10 - - 0-
10 B, - ol- 10
10 o ol 10
10
10
10 - - 0-
L Re R4 6,055 - 10
10
L=98.7m R2 Re 702,989 -
L=102.7m
o ol 10

L=196.0m




10

L=170.0m R2 R2 21552|-
L=54.8m - - ol- 10
10
L=765m - . ol- 10
10
10
L=62.8m - - of-
10
1.0 - - o
A=12,000m2
115 L=4383ml 2o R2 166,700[3.61
L=70.0m
A=250m2
iem | R2 R 33,000]1.02
3 R3 RS 135,004/68.35
A=5,950m2 R3  R3 32,120[3.38
A=450m2
L=400m
A=5000m2 | R3 R 384,545/2.80
5
A=3,500m2
N=26 R4 R6 550,000(2.69
L=76.0m
Aszooom2 | R4 R 153,000{1.50
A=1,500m2
R4  R6 170,000[2.75
A=2,000m2
A=2,100m2
R4  R6 143502|2.13
L=105.0m
L=165.0m
Actooome | R4 R 210573167
A=3334m2 [R5 Rs 11594(2.75
1
L=89.6m RS RS 17,508(25.74
L=40.0m
3 RS R6 100,000{1.69
A=5000m2| R5  R6 100,000[2.87
1
L=257m RS RS 3377|- 10
L=170m
1 |rR5  Re 114,446|- 10
L=842m 10
A=1500m2 | R5 R 190,000{-
A=735m2
A=1,500.0m2
R6  R6 19500[3.18

A=2,00.0m2




A=80.0m2 10
Veaooms | RS RS 7,150-
2 R6 R6 26,00013.55
L.=90.0m ! i
! R6  R6 13,000(6.25
L=300m 000]6.
10 R2 R3 611,674|-
10 R2 R3 148,536|-
10 R3 R3 191,000]-
10 R2 R2 13,722]-
10
Ra  R6 100,000 -
10
1.0 R4 R6 164,899|-
(11.206,498)

11,045,426




